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There are 30 questions in Section A and 15 questions in Section B. 

The diagrams in this paper are not necessarily drawn to scale. 

Choose the best answer for each question. 

Section A 
3~ - 3">n rri 

3•n (21n) 
.s -= ~"' 

1. 93n = 3~ .._ 361-1 

A. 3•n 

a. 3n 

C. 3-2n 

D. 3-Jn 

2. If 3p(p-2q) = 2p-q , then q= ~pl--tp}~ 2p-1 

A. 
3p2 -2p ?:>p1- -:i.p==- 6f1 - i, 
6p-l ~p).-p =- 1 l bp- u .. 

3p2 -2p 
.I-

B. 
}1-J ;- 1 

6p+1 '7p - I 

C. 
3p2 +2p 
6p-l 

D. 
3p2 +2p 

6p+l 

3. h 2 
- 4hk - l 2k2 - 3h - 6k = ( h-lr)lh-t.Jf ) - 3( h-r).~) 

A. (h-2k)(h+6k+3) (_hi-1.f) [ h-br. -3) 

B. (h-2k)(_h-6k+3) 

C. (h+2k)(_h-6k-3) 

D. (h + 2k')(h + 6k - 3) 
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4. 
,r2 
-== 0, CJ Lj-44- 5 7 h 1 7 
222 

A. 0.044 (correct to 2 decimal places). X eke pl .... uz 

B. 0.0444 (correct to 3 significant figures). t o o 4·4 5 

C. 0.0445 (cortffl to 4 decimal places). 

D. 0.04446 (correct to 5 significant figures). 'f.. 4 s;3, fj · 

5. Let f(x)=(hx+IO)(x-6)+k ,where h and k areconstants.lf f(-2)=f(3)==5 ,find k 

A. - 23 
-f(-'l. J ==-S f (~ ) -=: s 

( -l.h + Io) (-1- l:,) + ::: 5 c~h+lo)(3- 6)'1 ~ ::: 5 
B. -3 lbh -iD+K -=-5 - ~h - 3o -t le:- =- 5 

C. 43 [bh+~~i~ - 1h+~::;~5 

D. 53 k=· 2 , Jc=- 53 

6. Let a and b be constants. If 2x2 + (a -3)x +a+ b = (x + 4)(2x -5) , then b = 

=- 2 x--t $'ll -5 -x - 2 0 

-26. - 2-x"l-+ j½ - )A) 
,._ 

B. -6. o-3 =- 3 o -t b = - .2.0 

C. 6 . 0 = (:, '7+b= -.)..o 

D. 26. b = -lb 

7. Let f(x) == 5x2 
- 1 . If a is a constant, then f(a)-f(a-1)= 

A. 5 . - t;o? --1 -[ 5 (_cx-i /'-1 J 
- SD<)..-1 -5(~J..-~+l) + I 

B. 2a - 3 5 0?-1 -Scx)..t- 100<-Si"" I -
C. 3-10a - )0 0( - 5 -
D. )Oa-5 
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8. 

9. 

10. 

11. 

Let p(x) = 2x2 
- x + c , where c is a constant. If p(x) is divisible by x + 2 , find the remainder 

when p(x) is divided by 2x -1 . 

~- -10 

B. -5 

C. 5 

D. 10 

pC-l) =O 
;J.(-2-1-(-J.)+ C=-0 

I Oi- C. =-- 0 

c=- 1° 

Rr2,Mo, i " du- = p ( { ) 
- l(i);).- L~ ) - 10 
- - Io 

A sum of $84000 is deposited at an interest rate of 
Find the interest correct to the nearest dollar. 

8% per annum for 5 years, compound monthly. 

O,oi 5,l('J).. 

A. $2836 
i 4-)oo (I+ ~) - ~4000 

B. $33600 
.::::. 41\4--l 

C. $40341 

D. $41 147 

Let b and be non-zero numbers. If 2a=3b and a :c =4 :3 ,then a+2b a, C --= 
Sb-c 

Q .:. b =- 3~~ = 12 .:. i 
A. 16 o .:. C =- 4 :. .:> 12:. i 

27 a~ b c = 12 i:: 4 
B. 24 o.-t 2b 1.2+.2(i) .1i -

37 -.::. = Sb -G z;(1)- i 3 I 
C. 28 

31 

D. 7 -
6 

The solution of 7x - 6 ~ 5(x + 4) and 8-5x 
--<-19 IS 

3 

A. X $ 13 7);,- b sx+ 20 ~- 5-x: <-Sl· 
2-x, >- 1 b 65 <. !)x, 

B. x ~ 13 x,~ ,3 oV\d 1.)-< X 
C. x <l3 

?( >13 

D. x>13 
X > I _) 

MHl~6Y2I El P2 
4 



12. 

13. 

It is given that 
w varies directly as the x and inversely as square root of y. lf x is decreased by 

I 0% and Y is increased by 44% ' then w 

A. is increased by 34%. h;::::. _b_ 
ry 

B. is decreased by 25% . 
kt X=- } o.4 

C. is increased by 60% . y=:- I 1-~ 

D. is decreased by 37.5%. =I 

'NeJ..J J,.J = 1(0.°I) 
:::- 0 .15 oJ5- l ::::::. -o.)5 

J~ = - :25 /• 

Let a n be the nth term of a sequence. If a = 2 a = 5 and a = a + 2a 
I ' 2 · .. ... 2 1t ,, ... 1 for any positive 

integer n , then 0 5 = 

A 

B. 

19 . 

29 . 

C. 37 . 

D. 70 . 

Q 5== C\ 1 + 20~:::: 2+2(5)= 12 
°'4-= + 2 0.~ -= S-t-2(P-) = 24 
~s = o.. + 2°'4 : I 2 t 2.(i~ ) = 70 

14. Let h and k be real constants with h > 0 . Which of the following statements about the graph of 

y = h(k -x)2 + h must be true? 

I. The graph opens upwards. 
II. Thevertexofthegraphis (h,k) . 

Ill. The y-intercept of the graph is positive. 

A I and II only 

B. I and ID only 

C . II and m only 

D . I, fl and ill 

M THS6Y2 1E IP2 
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I 
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15. The base of a solid right pyramid is a square with length 8 cm . If the total surface area is 144 cm
2 

, find 
the volume of the pyramid. A 

{ b. A PE- ::, 11+ 4 b4: 
- 10 

A. 64cm2 

== :i,o >-
Q. :a 5 C 

h = J s,. - 0 =- ?> · 

B. 96 cm2 

C. 320 2 -cm 
3 

D. /q2 cm2 , ,_ V = { C )_ ) ( :; ) 
=- fr't 

16. In the figure, OPQ and ORS are sectors with centre O , where OP = 10 cm and OR = 18 cm • 

17. 

The area of the shaded region PQSR 1s 84,r cm2 • Which of the following is/are true? _fr,_ 
1. n: t , 't r;t-: - re u J J 3bo == tm. I. The angle of the sector OPQ is 135° . =0 

II. The area of the sector ORS is 108,r cm2 • X 8 = I i:/ 
Ill. Theperimeteroftheshadedregion PQSR is (21.1r+l6)cm . 

]: _ A. I only 
l-

B. II only 
= 1C(.,1i ) 31:,0 ~ 

=- / -:l. J. S7i:, 

C. 1 and III only 
Pe,r~Y s N . R 

D. II and lll only .... 1?:h" =- 2IC,(1..,)~ + 2rrU&) >< 3bc> 
+1+ i 0 

== 2-11t+t 6 

1n the figure, ABCD is a parallelogram. F is a point lying on AD such that BF produced and 
CD produced meet at E . It is given that AF : FD= 5: 3 . If the area of t::JJEF is 135 cm 2 

, then 
the area of parallelogram ABCD is 

720 cm2 . 
·_' Af :. ?,c=3::'b 

B A. 
~ d .6rFD IV .bf; 0 c. A 

B. 750 cm2 • D t-: D L- =- 3 ( ~-a) =- 3" 5 
C. 1065 cm2

• t> f~D C I }5 x .2.- .::; 22.5 
3 

D. 1200 cm2
• b BcE : /35 ,.._ _i_:; C/to J'>-

- . /j BGF =- <:tho - 2l-5 .,..,~s=ho-o .,.__ rn D E Ill 

( b ABf _ .5.. C 'lP>-N- h.i:.jt) 
Ll- c.,pf - ;, 5 
.DP<Bf-=- )..)s,,. 3 ==375 DR b~ J<~wih )-, 

1-\ &c F t P\~ 

M rHS6Y2 I E l P2 
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18. 

19. 

20. 

In the figure, 
DE = 26cm 

ABC isastraightline. AD /I CE and LDAB =90°. DB = IOcm 
and AB =b cm . Find the perimeter of the quadrilateral ACED . 

A. 68 cm 

B. 73.6cm 

C. 74 cm 

D. 79.6 cm 

'_ to.)..-+ J~~-=- 261 
, .. •• L DB];: =-°to~ 

i'j L s ... - at D , o-J r .c'> 'i) ... st. "),( . 
6 t>A-B "' b gc, E: c_ /\ 'litA) 

AB J.Q.. 
c~ c-. "l-tt 
b - ,o a - ),lf-

cE=- ==- rr.Lt-
DA ;. ( J -b : g 

A 

, BE = 24 cm , 

r 
C 

P,e == .... _ ic+-,<\- "> = 19 ,1. Pe.-otH.isr :: ,;,-t -t 14- 4 + IC/ . d i- ) b 
= r ~- 6 

The length of a ribbon is measured to be 95 cm , correct to the nearest cm. The length of a rope is measured 
to be 150 cm with a percentage error of \ 2% . Find the Upper· / ;,r,i-t; ._,_ difference in the length between 
the rC>f><! and the ribbon. J of -Che 

\ ~.5 "' q5_5 
A. 52.5 cm i 
B. 57cm 

Moo.)(.. U1'9Y -::; l So 1- J. .. /- ==-

C. S8.S cm 
\47 ,v )S~ · 

D. 59.5 cm 

ABCDE is a regular pentagon. The diagonals AC and BD intersects each other at 
following are true? a.-.o.LL = ( }j- 'l-)(fboJ -1" 

· J 5 ==' loo 

I. AF= FC. y. ( B'J oh~½-,) 
II. MBF ~ MCD / (~ o.n5k~ -fa..-..-. J ) 
111. AEDF is a rhombus. 

~Bj iN- ar+s f~d, 
A. I and II only 

B. I and Ill only 

C. 1J and III only 

D. I, II and III 

A~"Df """ "'- // ~NI~ I 

WJ-th Af; ::; °f: D , 
ft /) t>-- r~Q'""b"'S 

F. Which of the 
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--- ---21. lnthefigure, ABCDE isacircle.ltisgiventhat AE :DE=S:4, ABII DC , LADC=l08° and 

22. 

23 . 

L.BCE = 80° . Find L.EBC . 

A. 37° L !)/\B=- 1i 6- 1oi
0 

( f"i . Ls , frU pl) 
=- 11· 6) ....., 

B. 39° L 'E:-A-1) -== 1~n--'io" ( oPP · Ls, c.1l, ... 'f" tl) 
:::. 100· ~e,'E-

E C. 40° 
L f:; fr8 =- loo·- 11·:::: 1i 

0 

D. 42° 
LAB"G- 5 . 
.LFAB ::: f LA-BE~ ~5 

D 

L EBC+-35°+ /of =r ')r,· [ ~ -L'> , l<Jdit. ~ ) 

sin(27O° + 0) cos 0 
cos(36O° - 0) 

A. sin0 

B. - sinfJtan 0 

C. sin0tan0 

D. 
l - sin8cos0 

cos0 

L E-BC::; 37" .A-B c. t, 

..... 
._ -C~ 0-t- I 

V'~~ 
= s)f\},e 

c,.~e 
=- Si~. ~,n~ 

C:=69 
= to..,,e s~e 

C 

The figure shows the straight lines L,: ax+ y = b and 
constants. Which of the following must be true? :y 

Li: x + cy = I , where a , b and c are 
_ -..l 0 > o }.y,.ye, -vc. slof(--m .. - C; 

V\'1 I;:: -0-.. 
I. a = b v AJ, C J2_ 
II. c <O )( 0-

ac < 1 ,(_ 
Y, = b Ill . 

x,=x')., 
A. I only ~:::.. \ 0-
B. II only o- ~ b 
C. I and Ill only ' . y > y1.-D. II and Ill only • I 

b )' t, 
be. > I c ; c. >o ) 
Oc, -,.1 ( ._. i>.== b) 

M.l 11S6Y21 El P2 8 



24. The polar coordinates of the points A , B and C are 

respectively. Find the area of MBC . 

A. 216 Ateo., :::. ( 1'&+24 )(3-:>) 
:l 

B. 486 - 650· 
C. 576 

D. 630 

I ::2-:2,." - 3.2.'0 = 9 o• ?,.:.il... -/ J) 
0 :::.1So· 

,,----~ 
(30,32°) , (18,122°) and (24,302°) 

0~) 
.21 / 

C 

25. It is given that A and B are two distinct points on the straight line x - 2y + k = 0 , where k is a 

constant. Let P be a moving point in the rectangular coordinate plane such that AP2 + BP2 = AB2 
• If 

the equation of the locus of P is x2 + y2 -(4't+ k)x + 2 y +17 = 0 <t /<.= ¥ a 0• 
/ LAfB :::; I 

.l,, ·fh 
o rc.k., i,.A n 

c:1,,-e111"4---t,," A o 

-J,, 
ca,.,.t i-t /ic=-s o.,.. 

<;t .. lr;,e, r 9•°":> AB 

A. - 20, 
(),v,tre,: ( 44 "!}- - I ) , 

B. - 16. 
-:J,( - 1)+~ = 0 

)... 

C . 16 • #+IL + + + :i-~= o 
3 J!- :::. - 4i 

D. 20. = - 1h 

26. Let h and k be constants. The coordinates of the points A and B are ( 3, k) and ( 20, 8) 

respectively. The straight line hx + 2y - 29 = 0 is an altitude of 6.0AB that passes through A , where 

27. 

0 is the origin. k = 4 Slop~'= -% s~ ·f o\, :~o::,, A-~ 

A. -5 . t ( ) =: - 1 : '--- . > B 
h::: 5 B. 7. , 

C. 14 . 

D. 22. 

S \,\½ 5 , A ( 3 , fc, ) r /\i'o St'- I 1n e. . 
tj'O ) + 2. lc: - 1. j = o 

')..~~14-
:::.1 

0 

The equation of the circle C is 
fs/ 

2x 2 + 2/ -12x - 4 y + 15 = 0 . Which of the followini;_.are true? 
-, 

I. The coordinates of the centre of C is ( 6 , 2) X 
x)..+ y"-- bX -2..1 + 7,r; = v 

II. The area of the circle is 2.5n . 
w,~ (, ,I ) 
~J,½ ·- J?+ ,~- 7- ;;:; lT.s"' 

lll. C cuts the y-axis at two distinct points. 

A. I only 

B. II only 

C. I and III only 

D. II and Ill only 

[\r-u;. ::. n. r "' = 1, '5' 7t 

S111~ - x~o . 
Y). -2 y + 7.5 ==- o 

6:=. (- 'l- )"- 4 [ l· 'S ) < o 

.·, No y-1v-t . 
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28. Two numbers are randomly drawn at the same time from six cards numbered 1 • 
respectively. Find the probability that the sum of the two numbers drawn is less than 

)_ 

A. 
3 1i J. = 5 10 30 
1 B. -
3 I ' 

f"), 

C. 
2 
3 

b. 3 
s 

2 , 4 , 5 , 7 , 8 
10 . 

s- -, i 

If I}, 

I J- 13, 
ll I t; 
I ?, f ( >'-

29. The box-and-whisker diagram below shows the distribution of the ages of students in a baking class. Find the 

inter-quartile range of the distribution. 

30. 

20 

IA. 4 

B. 5 

C. 6 

D. 9 

r1' I 
I l 

22 2~ 26 
Age 

I j I 
_J_J 

32 

l 
I 

34 

The stem-and-leaf diagram below shows the distribution of the a.~e,~ 
where x and y are integers with O x,y 9 . 

~-teml-tens) .t-f l 1,\,11?-tS) 
2 2 2 6 
3 5 7 7 X 

4 2 y 

of the workers in a company, 

If the range and the mode of the above distribution are 22 kg and 

deviation of the distribution correct to 3 significant figures~ 
37 kg respectively, find the standard 

A. 

n. 
7.24 kg . 

7.76 kg . 

C. 8.13kg. 

D. 8.23 kg . 

Li-o+y = J,)-t) "l 

y::, '+ 
v. \e. $ D M:id,.L , 

J, 
x ==7 

st~"'i:1w J d~vvi.,.,llth.:. 7. , b 

MTHS6Y2 l El P2 10 



Section B 

31. The H.C.F. and the L.C.M. of three expressions are 2ct2b2 and 20a'bs respectively. If the first 

expression and the second expression are 4a4b2 and 20a3b3 respectively, then the third expression is 

H.C .f of 4 c,..v.d U) 

A. 

B. 2a4b2 Pc,.,,u f (). 2 

C. a2bs X Pol-JV f b =-S 
D. a4b2 x 

32. 

A. 11101010112 

B. 111010101102 

C. 111010100112 

D. 1110010100112 

-,.. ti•frd u p 
J,y'I~ t '14'1'1!- o.. 2 

l).~ 

~ , \a, 
do 

.Let-" ~c.t b~ 
4 o.4 b ... 

J,°' ve 

7 :. Ill&. 

5- Jo I), 

_s : ''~ 

,. 
:2-()()l~ }/' 

33. Let f(x) be a quadratic function. The figure below 

graph of 
representsthe graph of y = f(x) and the 

J' 

A. y=-f(x+5) 

B. y= f(-x+5) 

C. y=-5f(x) 

D. y = f(-5x) 

MTHS6Y21EIP2 11 
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34. 

35. 

It is given that log4 y is a linear function of log
2 

x . The intercepts on the vertical ax.is and on the 

horizontal axis of the graph of the linear function are 5 and 3 respectively. Which of the following 

must be true? 

A. xsy3 = 230 

B. x3y5 = 230 

C. x'oy3 =230 
Slore 

D. X3YIO = 2 30 

For 0° < x $ 360° , how many roots does the equation 7 cos x + 4 sin 2 x = 7 have? 

A. 

B. 2 

C. 3 

D. 4 

7 e-os x -+ 4( 1-C-Os},x) = 7 
7 e,osX +-1- - 4Co!/X ;. 7 

-4eolx + 1 ecs.1- - = o 
Co.Sx == ¾ o..- OS -X ::. I 

~: o· tir 3bo· 

'·_ 4 

- -s 
- j 

36. Let an be the nth term of a geometric sequence. Given that a 1 + a2 + a3 + ... + a8 = .fi. + 1 and 

0
s = .fi. , which of the following must be true? 

a. 

I. a, is rational. 

II. 
V 

a20 < ;o 
III. a, + a2 + a3 + ... + a20 < 150 i-

A. I only 

B. IJI only 

[ C. I and II only 7 
D. II and Ill only 

MTHS6Y2 1E IP2 
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r- -=Ji / {)...(_ n_<& - l)-:::. J"i + l 
[i-l 

O-(.lrj) = (£"+1)(..Ji-l) 
/170- ::.. (11)), - ) "l. 

l50. =- I 
,.., - ...J_ 
v,. - ,c; 

j_ / ~-, 
C\),AJ = 15 L 5) =- 4-3, )._l < 5° 

a,+ ~~-t- --· O\.u, =c i (Jib>- , ) 
]i"-1 

- {b f. 65 
> 1:,o 
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31. 

38. 

Consider the following system of inequalities: 

3x + 4y- 32 SO 
2x+5_y- 26 S O 
x >- 0 
y>-0 

Let R be the region which represents the solution of the above system of inequalities. Find the constant k 
such that the greatest value of 9x + l O y-k is 55 , where ( x , y) is a point lying in R . 

A. - 3 

B. 37 

C. 41 

D. 43 

LS,l--) 
( ¥ ,o) 

]b ) I (o ,"? 

lo J o J 

°JX -1-IO y -
). - !£ --

Cfb- G~-tP,t · 

1 Let u = ---- and v =sin()+ i where 0° $ () s 360° cosB-isin () . Define z = u 2 + v2 
• Which of the 

1 Cos9 + ,sirie following must be true? u;. eose - i s,,,e • c,.~& -ti s,½e 

)( 11. 

/m. 

sin0 Sine 
The imaginary part of u is equal to the real part of v . 

The imaginary part of z is equal to 2 sin() cos() 

The real part of z is equal to - sin2 () • 

1:.. ::. 
A. I and II only -
B. I and III only , 
C. 

~ e +is," 9 
t -°'~).e .,. ~"" e 

eo~e-+ i s,· .... e 
) 

( cPi0-t iSin et -t- l ~'" + i ) 
' , ~ CPS 9 + i.t sihe~sa -~," e 

+ ~,h~e t' 2.i Sine - I 
c,sl.e-1 + ( i..~,1"19 c.ose-+- Si" e), 

l .,r 
7 II and lll only 

R,e..l 'P°'1° L~- POl"'i 
D. I, Il and lll == - ( ,- (,{.l-8) 

- - Sirl:;t-9 

39. Let k be a constant. If the straight line x + 2y - k = 0 and the circle x2 + I - 8x + 12y - 48 = 0 intersect 
at two distinct points A and B , then they-coordinate of the mid-point of AB is 

Ml 11%Y21 I· I P2 

28 - 4k ~ :; 1<-2/ , l'r.- "J.y/·+ yl.- ,g(k-2.y)+ IJ.y-48=0 
A. s kl.-#yt-4yl. -+-y.:a.._g~ +16y+1.2..y-4-S=o 
B. 4k - 28 5y:i.-t ( .2.8-+~)'j+ J<:l.-~~ -4i.::. u 

5 

14 
_ zk y- COKJ . Mid r•Jh, ::: -i ,f l'"Y't 1.s ) 

C. 5 :; -t ( - ( 2-8S - -1-~) ) 

D. 2k - 14 
5 

13 



40. 

41. 

A--B with AP: PB= 3 : 4 . AB and 
The figure shows a sector AOB with centre O. P is a point on 
OP intersect at Q. OA = IO cm and LOAB = 27°. Find the shaded area correct to the neareSt O. I cm

2 
• 

£ NJ& : t.BoO...: 3 : + 
A. 19.1 cm2 1-AoB = l~o•-2(•·t) =- ,~· 
B. 21.9 cm2 ... '· L Ito D.. .=. >1-' , 1-~o.. =-1·l 

JO .a&-
C. 39.1 cm2 S~l 1'i~• -7J.•-,.-f) -= J•~ l 

A 
D. 41.0cm2 Q.B::. ~-6)-91/>b 

~~Jed Aftp., 

- µ.(to>)( "it;:)- f(to)(1.b>1l1!Sb) S,-,,,_T 
= .lf"O . 0.,7 ew-...,, 

x -it1f, P~ , Y-i~ ·:: 
L kbe ·· fl th · d " tA d et a positive constant. The straight line Sx - 12y - 60k = 0 cuts e x-ax1s an y-axis a an 
B respectively. Denote O the origin and C the inscribed circle of l:!.OAB . If the length of the radius 
of C is 52 units, find the coordinates of the intersection of C and AB. 

A. (72,100) 

~- (72,-100) 

C. (78,-108) 

D. (100,-72) 

6-1<=-G-B ~ 5~-5:i . 
AP.=- PA =- '*-52 
5k-52. +l)ll.-S:l == A_B __ 

I 7/l- I o4 =- j(~:)"+( I~)• 

I 7 -I otf' = I 3 · 
It-~ 1(, · 

B-CoJ-130) , A(311- 10) 
&R. : M = 5(%)-51 : l'l( lb)-Sl-

- 3, =- 10 

42. A queue is formed by 6 adults and J children. If no children stand next to each other and no children are at 
any of the two ends, how many different queues can be formed? (o ~"411' . 

- --- - ----- - --- 6 '· A. 43200 5 oo f 1· ,t ;f- 1r ht)(f3 :. 
p~ 

B. 86 400 c:J,,,I~ -

C. 151 200 
&r .... c,~ )( 

5 

D. 332 640 b -,( G )( '· = ~;). oo 
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.o. Peter takes part m 1hrtt different mathematics competitions. The probabilities for him to get a distinction io the 
three competitions are 0.2 . 0.3 and 0.15 respectively. Find the probability that he gets a distinction in 
at least I competitions. 

A. 0.407 

8 . 0.524 

C. 0.65 

D. 0.991 

/ - ~1-0.~ )(l-o.~)(l-o ,IS) 

44. In a test, the scores of Carol and David are 72 marks and 56 marks respectively. If the standard deviation 
of the rest scores is 8 marks, then the difference of the standard scores of Carol and David is 

u-t )>-- be ~Cin 
A. 2. 

B. 8 . 
71 - ,.. ~b - f.A: 12-1!:.-si:,;- t:_ - ' 't> i g 

C. 16 . 
- 2. D. 128 . -

45. The mean and variance of a group of numbers { x, , x2 , x3 , ... ,x20 } are 14 and a respectively. Let k 

be a constant. lf the mean and variance of another group of numbers { h , - 3, kx2 - 3. kx3 - 3, ... , kx20 - 3} are 

25 and a+ 9 respectively, a = 

A. 2. 

B. 3 . 

C. 9 . 

D. 12 . 

MTHS6Y21EIP2 

New >WAn ; ~(l+) -5 
Jt:.(I+) -3 = J.5 

Jc ::: J. 
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3°' =- 4 
a. .:: ..> 


